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<div><b>DISCLAIMER / WARNING: THIS IS A NEW IMPLEMENTATION OF THE VPM-B ALGORITHM AND A DIVE PLANNER IMPLEMENTATION BASED ON THAT WHICH HAS RECEIVED ONLY
A LIMITED AMOUNT OF TESTING. WE STRONGLY RECOMMEND NOT TO PLAN DIVES SIMPLY BASED ON THE RESULTS GIVEN HERE.<b> </div><br><div><b>Subsurface dive
Flan</b><br>based on VPM-B at +2 conservatism</div><br><div><table><thead> <tr><th>depth</th><th style='padding-left: 10px;'>duration</th><th style='padding-
eft: 10px;'>runtime</th><th style='padding-left: 10px; float: Ieft;'>é;as</th></tr></thead><tbody style='float: left;'><tr><td style='paddin?-left: 10px; float: ri?ht;'>
45m</td><td s(tjyle='padding-|e t: 10px; float: right;'> 3min</td><td style="'padding-left: 10px; float: n?ht;'> 3min</td><td style="padding-left: 10px; color: red; float: left;'>
<b>air</b></td></tr><tr><td style='padding-left: 10px; float: right;'> 45m</td><td style='paddir(\jg- eft: 10px; float: right;'> 28min</td><td style='padding-left: 10px; float:
right;'> 30min</td><td>&nbsp; </td></tr><tr><td style="'padding-left: 10px; float: right;'> 21m</td><td style="'padding-left: 10px; float: right;'> 3min</td><td
style='padding-left: 10px; float: right;'> 33min</td><td>&nbsp; </td> </tr><tr><td style="'padding-left: 10px; float: right;'> 21m</td><td stﬁle='padding-left: 10px; float:
right;'> 1min</td><td style="'padding-left: 10px; float: right;'> 34min</td><td style="'padding-left: 10px; color: red; float: left;'><b>EAN50</b></td></tr><tr><td
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<div><b>DISCLAIMER / WARNING: THIS IS A NEW IMPLEMENTATION OF THE VPM-B ALGORITHM AND A DIVE PLANNER IMPLEMENTATION BASED ON THAT WHICH HAS RECEIVED ONLY
A LIMITED AMOUNT OF TESTING. WE STRONGLY RECOMMEND NOT TO PLAN DIVES SIMPLY BASED ON THE RESULTS GIVEN HERE.<b> </div><br><div><b>Subsurface dive
lan</b><br>based on VPM-B at +2 conservatism</div><br><div><table> <thead> <tr> <th>depth</th> <th style='padding-left: 10px;'>duration</th><th style='padding-
eft: 10px;'>runtime</th><th style='padding-left: 10px; float: Ieft;'>gas</th></tr></thead><tbody style='float: left;'><tr><td style='paddin?—left: 10px; float: ri?Iht;'>
i

45m</td><td style='padding-left: 10px; float: right;'> 3min</td><td style='padding-left: 10px; float: right;'> 3min</td><td style='padding-left: 10px; color: red; float: left;'>
<b>air</b></td> </tr><tr><td style='padding-left: 10px; float: right;'> 45m</td><td style='padding-left: 10px; float: right;'> 28min</td><td style='padding-left: 10px; float:
right;'> 30min</td> <td>&nbsp; </td> </tr> <tr><td style='padding-left: 10px; float: right;'> 21m</td><td style="'padding-left: 10px; float: right;'> 3min</td><td
style='padding-left: 10px; float: right;'> 33min</td><td>&nbsp; </td></tr><tr><td style='padding-left: 10px; float: right;'> 21m</td><td s%le:'padding—left: 10px; float:
right;'> 1min</td><td style="'padding-left: 10px; float: right;'> 34min</td><td style="'padding-left: 10px; color: red; float: left;'><b>EAN50</b></td></tr><tr><td




